Decisions which have to be done in respect of the control range […]:
During the 11th meeting of IWG ASEP a proposal from a member of the Drafting Group about a “Control range for starting tests” was presented
Annex 7

2.3.1               Control range for starting tests

Vehicle speed VAA+5_ASEP:
vAA+5 =0 km/h

Vehicle acceleration aWOT_ASEP:
aWOT ≤ 5.0 m/s2

Engine speed nBB_ASEP
nBB ≤ 2.0 * PMR-0.222 * S or







nBB ≤ 0.8 * S, whichever is the lowest



Vehicle speed VBB_ASEP:            VBB_ASEP≤ 30km/h
Gears


	Annex 3 gear selection
	Annex 7 gear selection

	Locked condition
	1st gear or Non-locked

	Non-locked
	Non-locked 


2.5.1. 
Starting tests
Start from the approach of the reference point according to definition 2.11. of the main body to line AA'+5m until the rear of the vehicle passes line BB' or the gear changes, which happens firstly.
At line AA'+5m the accelerator may be fully or partly depressed.
II.
Justification
…

3. If starting tests are needed, that means new speed points, engine speed points and accelerations calculation methods need to be created. 
Around the proposal a discussion started 
( Conclusion: If useful boundary conditions can be found, such a starting test could be incorporated in RD-ASEP
Basic Ideas about “starting tests”:
A “normal start” of a vehicle from 0 km/h has to be tested !

No “burst starts”, “race starts” or “launch control starts” ! (For this the driver takes responsibility) !
The sound which is produced by the engine and its silencer(s) have to be tested and not the SPL of tyre-slippery ! 

Questions about sufficient boundary conditions of such a test
1. Where the vehicle has to start?




Starting Position of the vehicle have to be fixed
2. Which gear(s) has to be tested?




Gear(s) which has/have to be used during test has to be fixed
3. Which RPM-range for starting at V = 0 km/h?

Maximum rpm of the start of the vehicle has to be fixed

4. Which maximum acceleration? 




Maximum vehicle acceleration has to fixed

5. Which maximum speed at the end of test (VBB’?)?

Maximum speed at the VBB’ has to be fixed

6. Which maximum rpm at the end of test (VBB’?)?

Maximum rpm at the VBB’ has to be fixed

7. Which modes have to be tested? 
1. Where the vehicle has to start?




Starting Position of the vehicle have to be fixed
A. Usual distance from pedestrians to car at crossroad traffic light
B. Usual distance from pedestrians to car at traffic light
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C. Other possibilities which can be relevant in the view of IWG ASEP?
2. Which gear(s) has to be used?




Gear(s) which has/have to be used during test has to be fixed

The gear(s) which is(are) used for starting the vehicle from a speed of 0 km/h

Only gears for “On-Road” or also “Off-Road”?

3. Which RPM-range for starting at V = 0 km/h?

Maximum rpm of the start of the vehicle has to be fixed
Because of the basic idea the “normal starts” has to be tested, there is the question what is the rpm-value of a normal start? 

Nearly all normal starts of a vehicle are done below an rpm-value of 1/3 of S or below an rpm-value of 1/2 of max. torque.
Because the value of maximum torque is not mentioned in UN-R 51.03 the value X% of S seems to be sufficient. 
Are there other information or meanings about the RPM-range?
4. Which maximum acceleration? 




Maximum vehicle acceleration has to fixed
Because of the basic idea that “normal starts” has to be tested, there is the question what is normal acceleration of a vehicle?
Because there is the value 2.00 m/s2 is inside Annex 3 this could be a useful maximum acceleration.
To start the test in Position A (vehicle front AA’) and fix a maximum acceleration of 2.0 m/s2 we come to a maximum speed VBB’ around 9 km/h.

To start the test in Position B (vehicle end AA’) and fix a maximum acceleration of 2.0 m/s2 we come to a maximum speed VBB’ around 8 km/h.

Are there other information or meanings about the maximum acceleration?
5. Which maximum speed at the end of test (VBB’?)?

Maximum speed at the VBB’ has to be fixed
Because there is the idea to 

- use only the first gear for this test and
- to exclude the first gear inside the control range of the other RD-ASEP (more than 10 km/h and less than 100 km/h)
and that 2.0 m/s2 comes to a speed VBB’ of around 8 or 9 km/h
these speed and its rpm values could be the maximum speed VBB’.

Are there other information or meanings about the maximum speed VBB’?
6. Which maximum rpm at the end of test (nBB’?)?

Maximum rpm at the nBB’ has to be fixed
What should be a sufficient maximum rpm nBB’ for this test?
Engine speed nBB_ASEP 
nBB ≤ 2.0 * PMR-0.222 * S or 

nBB ≤ 0.9 * S, whichever is the lowest

7. Which modes have to be tested? 

Two possibilities:

A. If there are different modes all modes have to be tested.

B. If there are different modes the mode which produces the highest SPL has to be tested.

Decisions which have to be done in respect of the number of RD-ASEP-tests between 10 and 100 km/h […]:

How many tests have to be performed for RD-ASEP?

Boundary Conditions:

1. Each test will be done or witnessed by TS only one time

2. Recorded or noticed values: Gear, VAA’, nAA’, VBB’, nBB’, SPL-Curve with maximum SPL (dB(A))
3. Each mode has to be tested

First Idea:

Each gear has to deliver at minimum 2 values, if each mode has to be tested 

(3 values if we decide to test only the mode which produces the highest SPL). 
Inside these value(s) the Annex 3 result(s) of a gear is(are) valid also as an Annex 7 result(s).

CVTs have to be tested in the same way (compared to a manual gear box with 6 gears).

This means that we come to a number of 

- 10 to 11 runs for a manual gear box with 6 gears (per mode)
- 14 to 15 runs for a manual gear box with 8 gears (per mode)
What is the meaning of the group?
A +5m





A +5m










